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1) MAl 7tX| &t Z= Al (World Values Survey)

1. 19821, 19904, 199613, 2001 4tHO| ZAIO| A BH2 Q| ALS|H Rj& LS
OECDRE7} 5 W2 #F o= HI}E

2. 5H20| ALBIE AHE WY T 2H H (ZEAS 2007)
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NEEES \ 0.36 (13/21) \ 0.34(16/43) ] 0.30(13/54) = 0.27(27/70) \ -0.09
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wal 8MH HEUNAL AZEE I 25 F



il

d:413H-(08-104, 118 M E)

oM =

st apetel

—
o

2.20014

=~
=

10l =48: 5.51

o
—

3.2004d ot U QF SOLA|OFR T
4.2006H KDI =R H&Cystelat 7|

O kMO =8 4.88

=1
2|

AL

£

e
o
=

| Z|2FOJL} T = 0f LY

A2,

i

o -
e o
-




(@) HIE ME(of Bt SRS 4

stel, 7|20 £kK] (0F-10F, 118 X &)
)> A|DICHK|(5.41)> §1E(4.91)>>> MEH3.31)> =23|(2.95)
=

29
=1

o S =0 o
253 7| (3.78)> 47| (3.41)> 9 ’
A X2 ALCHY(3.39)> 2 87|2(3.06)> =47 €1(3.0
WA A2 s HIH2.61, 16/2074 7|2, =Y J

[SOIA|OI 7 &l, ZALUE(2008)] ME|=2F e EIF AlA|

- &2 g ME| T = O 7| Y, AFEH7| 2

- =2 G, 2 ME| T "oty

— ¢ 8= ZA ol o Y

[IMBC, ZH21(2008.7)] 117} 7|&to| Alg|E T 7}

- ZCH(57.7%)> A|QICHY| (55.3%)>>> AHE(23.9%)> 23|(12.6%)




() AtSIE XpEat AX AR 5

e ZELf(Pytnam, 1993) AIS| A XIEO| Aste?

1. H2jo| EstAl I M 20| HIC AA Zta— HI|H|2 24— AKX Q) T4 U MAN =t
/

o -
ot 513 =X RO 888 JIM - AR AHEH

L ]
EER
=2 Tl 07 ©'— H i 1
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o Mt HH(Zak and Knack, 2001)
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1. LIO|7} Bt2 = 7|Alm Ol , 250 HE255, 74 1s[of Cioh 24
Ol 25, M0l 25 7t us|E O ROl ¢lE
2. 7| 1.397 0| AME|E(GH ME)o| XI0|E 71 e

: 2| XO|7F 0.558 8| ME[ =20 XO|E VM=
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L 7|SWX| 71 4 71 Eeal| 220 & SFHE| I7|= fEEf.
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11,098 (A =Ate] M2 T)> 0.938 (w2[2He MEE)> 0.888 (el M= k)

2. A TO| ChSH BA OfEoh SOl XtO| 7t A WY 2RO ChS AR E0f Fi
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Fage: Model 1:  MALES] MET (HA) Model 3. MADT] JAR] AFL
TR Model 2: MA@ ML Model 4 MADE S92 AFL
Model 1 Modal 2 Model 3 Model <

AHET

Coaf. t-walua Coef. t-walue Coaf. t-walue Coef. t-walue
AiEZ20 0.05 0568 0.15% 1.67* 0.01 0,11 0,04 0.26
AGE 40 0.02 0.21 -0.03 -0.34 -0.0<4 -0.38 0.24 - =
AEEED 0.1z 1.18 0.05 0.46 -0.05 -0.48 0,20 2.00%FF
ACEGD 0.21 1.73* 0.09 .77 021 1.60% 0,42 3.2g%**
Prot 1.39 12.42%%k 0.88 B.01%** 1.09 Q.43 *k* 0.93 7.86%%*
Cath 0.21 1.58 0.08 0.a5 0.0 0.32 -0.21 -1.5=2
Budi 0.1& 1.1z 0.00 -0.03 0.1is 1.14 -0.032 -0.19
Confu 0,03 .08 0.0l o.02 -0.37 -0.749 0,54 1.132
m ale 0.02 0.29 004 0.60 -0.04 -0.69 -0.02 =
IMC 100 0,37 2.80%%* 023 1.81%:* 0.18 1.33 0,14 1.00
IMC 200 0.11 1.11 0.09 o.an 0.oo 0.00 0.02 0.z24
INC300 0.17 1.91 0.01 .10 0.00 0.04 0.04 0.4z
IMC 500 0.0v7 0.57 0.10 0.89 -0.09 -0.78 0.16 1.26
IMC o000 -0.04 -0.37 -0.01 -0.09 0.00 0,032 -0.19 -1.63
IMEWY 0,15 1.63% 012 136 0.0y 0,75 0,15 1.50
INER -0.40 -4 . gp¥EE -0.43 -5.5p%%% -0. 46 S -0.47 ~h.hrEE
EDLIL -0.06 -0,32 0.za 1.19 0.z22 1.24 0,12 067
EDLIZ 0,14 0,98 0. 26 1.84% 027 1.81* -0,12 -0.79
EDLI3 -0.06 -0.83 0.01 .20 0.04 0.46 0.14 1.71%
DERO -0.17 -0.45 -0.05 -0.13 0.22 0.57 -0.7< -1.86*
DEP1 -0.42 -2, 7%k -0.23 -1.52 -0.37 -2.29 -0.29 -1.74%
DEPZ 0,09 0,26 0.05 o.49 019 1.72 0,14 1.18

DER3 0.z20 1.68* 0.1z 1.03 0.24 1.90%% 0.33 267
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